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‘The diagrom shows three similor triongles.

Colasote the mising voluss.
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1) A rectangle has a perimeter of 8cm.
An enlargement of this rectangle has
a perimeter of 12cm. The length of the
smaller rectangle is 3cm.
Draw both rectangles and describe the scale factor
enlargement.

I think that triangles B and

C are similar to triangle A.

Not to scale
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3) The area of this rectangle is 28cm? and the
perimeter is 32cm.
Not to scale

When enlarged, the length of the longest side
increases to 35cm.

What scale factor has the rectangle been enlarged
by? Use reasoning to justify your answer.




